CITY OF KENT			1		2		3		4		5		1	
V. James St. & 4th Avenue N/W. Cloudy Street	BIDDER'S	s	Sanders General Co	Contruction	Rodarte Construction	tion	Dennis Craig Const	struction	Gary Merlino Cons	struction	R.W. Scott Constr	ruction	Ken Langholz	
BID OPENING: February 26, 2008	NAME AND		5188 NW Sammam		P.O. BOX 1875	P.O. BOX 1875		•	9125 10th Avenue		4005 W. Valley Hv		-	
Project: 07-3024 & 07-3025	ADDRESS		Issaquah, WA 9802	J27	Auburn, WA 98071		P.O. BOX 595 Redmond, WA 980	Redmond, WA 98073-0595		108	Auburn, WA 9800	•		
	TOTAL			*° °1′ °75 7′	_	*** *** ***		*0 (DE DED 46		** ** 740 74	\$4.400.001.45			** ***
TEM	TOTAL		+	\$3,216,275.72		\$3,238,021.89 TOTAL		\$3,695,979.41 TOTAL		\$3,967,710.76 TOTAL	+	\$4,629,991.45 TOTAL		\$3,282,164.45
ITEM NO. DESCRIPTION QUANT:	(TITV	UNIT	UNIT PRICE	TOTAL AMOUNT					T UNIT PRICE	AMOUNT		_		TOTA AMOUN
IU. DESCRIPTION QUANT	111	JIVI I	UNITPRICE	AWOUNT	UNITPRICE	AIVIUUIVI	UNIT PRICE	AIVIOUNT	UNITPRICE	AIVIUUIVI	UNITPRICE	AIVIUUNI	UNIT PRICE	AIVIUUIN
SCHEDULE A - W. James Street								•				•		
SCHEDULE I - STREET								•	1			•		
1000 Mobilization	1	LS	\$82,600.00	\$82,600.00	\$300,000.00	\$300,000.00	\$161,993.00	\$161,993.00	\$160,000.00	\$160,000.00	\$596,700.00	\$596,700.00	\$ 135,000.00	\$135,000.00
1005 Clearing and Grubbing	1	LS	\$4,200.00	\$4,200.00	\$10,000.00	\$10,000.00	\$9,845.00	\$9,845.00	\$110,000.00	\$110,000.00	\$25,000.00	\$25,000.00	\$ 10,000.00	\$10,000.00
1010* Remove Existing Asphalt Concrete Pavement	1,300	SY	\$3.15	\$4,095.00		\$7,800.00	\$11.60	\$15,080.00	\$9.00	\$11,700.00	\$8.00	\$10,400.00	\$ 7.00	\$9,100.00
1020* Remove Cement Concrete Sidewalk	950	SY	\$3.30	\$3,135.00	\$10.00	\$9,500.00	\$6.20	\$5,890.00	\$10.00	\$9,500.00	\$8.00	\$7,600.00	\$ 10.00	\$9,500.00
1025* Remove Cement Concrete Curb and Gutter	1,600	LF	\$1.60	\$2,560.00	\$5.00	\$8,000.00	\$4.20	\$6,720.00	\$4.00	\$6,400.00	\$4.00	\$6,400.00	\$ 5.00	\$8,000.00
1030 Remove Cement Concrete Extruded Curb	700	LF	\$1.50	\$1,050.00	\$3.00	\$2,100.00	\$3.50	\$2,450.00	\$3.00	\$2,100.00	\$1.50	\$1,050.00	\$ 2.50	\$1,750.00
1040 Removal of Raised Pavement Markers and/or Thermoplastic	tic Traffic 1	LS	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$1,344.00	\$1,344.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$ 1,500.00	\$1,500.00
1050* Saw Cut Existing Asphalt Concrete Pavement	2,000	LF	\$2.50	\$5,000.00		\$3,500.00		\$4,200.00	\$2.00	\$4,000.00		\$9,000.00		\$8,000.00
1055* Saw Cut Existing Cement Concrete Pavement	100	LF	\$7.00	\$700.00		\$250.00		\$325.00		\$1,000.00		\$800.00		\$500.00
1060* Roadway Excavation, Including Haul	2,300	CY	\$17.50	\$40,250.00		\$36,800.00		\$50,370.00		\$57,500.00				\$46,000.00
1065* Unsuitable Foundation Excavation, Including Haul	100	CY	\$25.00	\$2,500.00		\$2,000.00		\$2,190.00		\$5,000.00		\$3,000.00		\$1,500.00
1070* Geotextile Fabric, Non-Woven	100	SY	\$4.00	\$400.00		\$600.00		\$650.00		\$500.00		\$600.00		\$400.00
1075* Gravel Borrow, Including Haul and Compaction	4,400	Ton	\$17.00	\$74,800.00		\$83,600.00		\$96,360.00		\$96,800.00		-	· ·	\$88,000.00
1080* Crushed Surfacing Top Course, 5/8 Inch Minus	900	Ton	\$17.80	\$16,020.00		\$17,100.00		\$24,120.00		\$36,000.00		\$20,700.00		\$18,000.00
1085* Crushed Surfacing Base Course, 1 1/4 Inch Minus	650	Ton	\$17.80	\$11,570.00		\$12,350.00		\$17,420.00		\$18,200.00		\$14,950.00		\$13,000.00
1095* HMA, PG 64-22	1,250	Ton	\$97.50	\$121,875.00		\$100,000.00		\$102,187.50		\$106,250.00		\$106,250.00		\$100,000.00
1105 HMA for Preleveling, PG 64-22	100	Ton	\$130.00	\$13,000.00		\$10,500.00		\$10,640.00		\$11,000.00		\$11,500.00		\$6,500.00
1110* Planing Bituminous Pavement	1,500	SY	\$7.00	\$10,500.00		\$10,500.00		\$9,000.00		\$4,500.00		\$22,500.00		\$12,000.00
1135* Cement Concrete Driveway, 6 Inch Depth	1,300	SY	\$62.00	\$6,200.00		\$5,000.00		\$7,675.00		\$7,500.00		\$4,500.00		\$4,000.00
1145* Cement Concrete Sidewalk	850	SY	\$44.50	\$37,825.00		\$29,750.00		\$30,345.00		\$34,000.00		\$29,750.00		\$29,750.00
1150* Cement Concrete Sidewalk Ramp Type 1A	2	EA	\$1,750.00	\$3,500.00		\$3,000.00		\$2,270.00		\$2,000.00		\$1,900.00		\$2,900.00
1200* Cement Concrete Sidewalk Ramp Type 4A	1	EA	\$1,750.00	\$1,480.00		\$1,500.00		\$2,270.00		\$1,000.00		\$1,200.00		\$2,900.00
1205* Cement Concrete Sidewalk Ramp Type 4A 1205* Cement Concrete Curb and Gutter	1,800	LF	\$1,480.00	\$45,000.00		\$32,400.00		\$1,585.00		\$1,000.00		\$1,200.00		\$1,300.00
		LF LF												
1210 Type A Block Traffic Curb	600	LF LF	\$12.50	\$7,500.00		\$6,600.00		\$6,690.00		\$12,000.00		. ,		\$7,800.0
1211* Type C Block Traffic Curb	100		\$18.50	\$1,850.00		\$1,600.00		\$1,680.00		\$2,000.00		7-/		\$1,500.0
1215 Abandoned Existing Storm Drain and Sanitary Sewer	2 nholo to E	EA	\$650.00	\$1,300.00		\$1,000.00		\$1,570.00		\$4,000.00		\$4,000.00		\$800.0
1220* Adjust Existing Catch Basin, Storm Manhole or Sewer Manh		EA	\$450.00	\$900.00		\$600.00		\$1,100.00		\$800.00		\$3,000.00		\$800.0
1235* Adjust Existing Water Valve to Finished Grade	6	EA	\$160.00	\$960.00		\$1,200.00		\$2,100.00		\$2,400.00		\$2,400.00		\$3,180.0
1240* Adjust Existing Junction Box to Finished Grade	4	EA	\$230.00	\$920.00		\$1,200.00		\$1,980.00		\$1,600.00		\$2,400.00		\$1,260.0
1255 Remove Existing Chain-Link Fence	650	LF	\$1.00	\$650.00		\$2,600.00		\$3,217.50		\$1,950.00				\$3,250.0
1260 Remove and Relocate Wood Fence	1	FA	\$10,000.00	\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.0
1265 Remove and Relocate Chain-Link Fence	1	FA	\$10,000.00	\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.0
1290 Remove Existing Storm Sewer Pipe	65	LF . c	\$25.00	\$1,625.00		\$520.00		\$841.75		\$1,950.00		\$1,170.00		\$325.0
1295 Handrail	72	LF	\$185.00	\$13,320.00		\$12,600.00		\$9,936.00		\$7,200.00		\$8,640.00		\$9,000.0
1300 Reinforced Concrete Retaining Wall	700	SF	\$39.00	\$27,300.00		\$42,000.00		\$50,120.00		\$56,000.00		\$47,600.00		\$35,000.0
1310 Existing Irrigation System Removal, Repair and/or Modifica		FA	\$5,000.00	\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.0
315* Pothole Utilities	10	EA	\$550.00	\$5,500.00		\$5,000.00		\$2,350.00		\$9,000.00				\$5,000.0
1320 Relocate Existing Regional Justice Center Sign	1	EA	\$2,250.00	\$2,250.00		\$3,000.00		\$7,332.00		\$4,000.00				\$3,000.0
1325 Remove Existing Commons Playfield Sign	1	EA	\$160.00	\$160.00		\$200.00		\$1,500.00		\$4,000.00		\$500.00		\$500.0
1330 Reinforced Bus Shelter Footing	1	EA	\$3,700.00	\$3,700.00		\$1,500.00		\$3,850.00		\$4,000.00		\$2,000.00		\$2,500.0
1335* Watering	40	HR	\$62.00	\$2,480.00	\$100.00	\$4,000.00	\$120.00	\$4,800.00	\$100.00	\$4,000.00	\$150.00	\$6,000.00	\$ 100.00	\$4,000.0
1345 Fill Existing Ditch	1	LS	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$2,671.00	\$2,671.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$ 2,000.00	\$2,000.0

CITY OF KENT			1		2		3		4		5			
V. James St. & 4th Avenue N/W. Cloudy Street	BIDDER'	'S	Sanders General C	Contruction	Rodarte Constructi	on	Dennis Craig Cons	truction	Gary Merlino Cons	truction	R.W. Scott Cons	truction	Ken Langholz	
BID OPENING: February 26, 2008	NAME A	ND	5188 NW Sammar	mish Road	P.O. BOX 1875		P.O. BOX 595		9125 10th Avenue	· S.	4005 W. Valley I	Hwy. #A		
Project: 07-3024 & 07-3025	ADDRES	SS	Issaquah, WA 980	027	Auburn, WA 9807	1	Redmond, WA 98	073-0595	Seattle, WA 9810	8	Auburn, WA 980	001		
	TOTAL			\$3,216,275.72		\$3,238,021.89		\$3,695,979.41		\$3,967,710.76		\$4,629,991.45		\$3,282,164.4
ITEM				TOTAL		TOTAL		TOTAL		TOTAL		TOTAL		TOT
NO. DESCRIPTION QUANTITY		UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUI
TOTAL - SCHEDULE A-1 STREET				\$589,175.00		\$799,070.00		\$714,147.75		\$880,050.00		\$1,201,310.00		\$647,615.0
SCHEDULE II - WATER														
2080* Hydrant Assembly	2	EA	\$6,000.00	\$12,000.00	\$3,500.00	\$7,000.00	\$5,534.80	\$11,069.60	\$4,000.00	\$8,000.00	\$4,500.00	\$9,000.00	\$ 4,000.00	\$8,000.0
2105* Abandon Existing Water Service	4	EA	\$240.00	\$960.00	\$300.00	\$1,200.00	\$395.20	\$1,580.80	\$500.00	\$2,000.00	\$600.00	\$2,400.00	\$ 400.00	\$1,600.0
2115* Service Connection 1 Inch Diameter	4	EA	\$690.00	\$2,760.00	\$800.00	\$3,200.00	\$518.10	\$2,072.40	\$900.00	\$3,600.00	\$1,000.00	\$4,000.00	\$ 400.00	\$1,600.0
2145* Water Service Line 1 Inch Diameter	200	LF	\$24.00	\$4,800.00	\$10.00	\$2,000.00	\$35.60	\$7,120.00	\$40.00	\$8,000.00	\$50.00	\$10,000.00	\$ 20.00	\$4,000.0
2210* 1 Inch Meter Setter	4	EA	\$215.00	\$860.00	\$600.00	\$2,400.00	\$295.00	\$1,180.00	\$300.00	\$1,200.00	\$500.00	\$2,000.00	\$ 250.00	\$1,000.0
2220* Meter Box for up to 1 Inch Diameter Service	4	EA	\$150.00	\$600.00	\$500.00	\$2,000.00	\$350.00	\$1,400.00	\$40.00	\$160.00	\$300.00	\$1,200.00	\$ 300.00	\$1,200.0
2320* Remove Existing Water Meter Box	4	EA	\$50.00	\$200.00	\$50.00	\$200.00	\$50.00	\$200.00	\$200.00	\$800.00	\$250.00	\$1,000.00	\$ 100.00	\$400.0
2335 Remove Existing Fire Hydrant Assembly	1	EA	\$1,050.00	\$1,050.00	\$1,200.00	\$1,200.00	\$985.00	\$985.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$ 900.00	\$900.0
SUBTOTAL SCHEDULE A- II WATER				\$23,230.00		\$19,200.00		\$25,607.80		\$24,760.00		\$31,100.00		\$18,700.0
Sales Tax 8.9%				\$2,067.47		\$1,708.80		\$2,279.09		\$2,203.64		\$2,767.90		\$1,664.3
TOTAL SCHEDULE A- II WATER				\$25,297.47		\$20,908.80		\$27,886.89		\$26,963.64		\$33,867.90		\$20,364.3
SCHEDULE III - SANITARY SEWER 3010 Ductile Iron Sewer Pipe, 8 Inch Diameter CL 50 3050 Manhole Under 12 Feet, Type 1 48 Inch Diameter 3120* Foundation Material, Class I and II 3135* Pipe Zone Bedding	45 1 15 20	LF EA Ton Ton	\$105.00 \$3,000.00 \$20.00 \$17.50	\$4,725.00 \$3,000.00 \$300.00 \$350.00	\$62.00 \$2,500.00 \$40.00 \$15.00	\$2,790.00 \$2,500.00 \$600.00 \$300.00		\$3,100.50 \$3,589.00 \$584.25 \$719.00	\$100.00 \$3,000.00 \$40.00 \$25.00	\$4,500.00 \$3,000.00 \$600.00 \$500.00	\$80.00 \$4,000.00 \$50.00 \$50.00	\$3,600.00 \$4,000.00 \$750.00 \$1,000.00	\$ 125.00 \$ 3,250.00 \$ 20.00 \$ 20.00	\$5,625.0 \$3,250.0 \$300.0 \$400.0
3145* Bank Run Gravel for Trench Backfill	35	Ton	\$15.50	\$542.50	\$15.00	\$525.00	\$32.50	\$1,137.50	\$25.00	\$875.00	\$22.00	\$770.00	\$ 15.00	\$525.0
TOTAL SCHEDULE A- III SANITARY SEWER				\$8,917.50		\$6,715.00		\$9,130.25		\$9,475.00		\$10,120.00		\$10,100.0
SCHEDULE A-IV STORM SEWER														
4000 Remove Existing Catch Basin or Manhole	3	EA	\$300.00	\$900.00	\$250.00	\$750.00	\$408.30	\$1,224.90	\$700.00	\$2,100.00	\$750.00	\$2,250.00	\$ 500.00	\$1,500.0
4015* Storm Sewer Pipe, 12 Inch Diameter, Ductile Iron, Class 50	400	LF	\$60.00	\$24,000.00	\$50.00	\$20,000.00	\$63.85	\$25,540.00	\$70.00	\$28,000.00	\$80.00	\$32,000.00	\$ 70.00	\$28,000.0
4040 Storm Sewer Pipe, 30 Inch Diameter, RCP	25	LF	\$142.00	\$3,550.00	\$150.00	\$3,750.00	\$285.00	\$7,125.00	\$500.00	\$12,500.00	\$180.00	\$4,500.00	\$ 90.00	\$2,250.0
4075 Culvert Pipe, 48 Inch Diameter, RCP, Class IV	72	LF	\$200.00	\$14,400.00	\$175.00	\$12,600.00	\$395.00	\$28,440.00	\$200.00	\$14,400.00	\$250.00	\$18,000.00	\$ 150.00	\$10,800.0
4080* Catch Basin, Type 1	6	EA	\$900.00	\$5,400.00	\$800.00	\$4,800.00	\$866.20	\$5,197.20	\$1,000.00	\$6,000.00	\$900.00	\$5,400.00	\$ 1,100.00	\$6,600.0
4081 Catch Basin, Type 1L	1	EA	\$950.00	\$950.00	\$600.00	\$600.00	\$926.50	\$926.50	\$1,000.00	\$1,000.00	\$1,300.00	\$1,300.00	\$ 1,200.00	\$1,200.0
4090 Catch Basin, Type 2 54 Inch Diameter	1	EA	\$1,700.00	\$1,700.00	\$2,100.00	\$2,100.00	\$3,930.50	\$3,930.50	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$ 2,800.00	\$2,800.0
4115 Solid Round Locking Manhole Frame and Cover	2	EA	\$380.00	\$760.00	\$200.00	\$400.00	\$475.00	\$950.00	\$200.00	\$400.00	\$400.00	\$800.00	\$ 350.00	\$700.0
4120* Vaned Catch Basin Frame and Grate	2	EA	\$320.00	\$640.00	\$200.00	\$400.00	\$325.00	\$650.00	\$300.00	\$600.00	\$400.00	\$800.00	\$ 350.00	\$700.0
4125* Thru-Curb Inlet Frame and Vaned Grate, DI	4	EA	\$430.00	\$1,720.00	\$250.00	\$1,000.00	\$550.00	\$2,200.00	\$300.00	\$1,200.00	\$500.00	\$2,000.00	\$ 400.00	\$1,600.0
4140 Vertically Adjust Existing Storm Manhole	2	EA	\$1,600.00	\$3,200.00	\$350.00	\$700.00	\$986.00	\$1,972.00	\$400.00	\$800.00	\$2,000.00	\$4,000.00	\$ 2,000.00	\$4,000.0
4155* Foundation Material, Class I and II	100	Ton	\$20.00	\$2,000.00	\$40.00	\$4,000.00	\$38.95	\$3,895.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00	\$ 20.00	\$2,000.0
4160 Light Loose Riprap	45	Ton	\$40.00	\$1,800.00	\$70.00	\$3,150.00	\$89.00	\$4,005.00	\$20.00	\$900.00	\$50.00	\$2,250.00	\$ 50.00	\$2,250.0
4170* Pipe Zone Bedding	125	Ton	\$17.50	\$2,187.50	\$15.00	\$1,875.00	\$35.95	\$4,493.75	\$30.00	\$3,750.00	\$50.00	\$6,250.00	\$ 20.00	\$2,500.0
4187 Streambed Gravel	40	Ton	\$40.00	\$1,600.00	\$100.00	\$4,000.00	\$65.00	\$2,600.00	\$30.00	\$1,200.00	\$150.00	\$6,000.00	\$ 35.00	\$1,400.0
4210* Thermoplastic Storm Drain Stenciling	8	EA	\$60.00	\$480.00	\$50.00	\$400.00	\$50.40	\$403.20	\$100.00	\$800.00	\$100.00	\$800.00	\$ 50.00	\$400.0
TOTAL SCHEDULE A - IV STORM SEWER				\$65,287.50		\$60,525.00		\$93,553.05		\$82,650.00		\$96,350.00		\$68,700.0

CITY OF KENT			l 1		2		3		I 4		l 5	1		1
W. James St. & 4th Avenue N/W. Cloudy Street	BIDDER'S	s	Sanders General (Contruction	Rodarte Constructio	n	Dennis Craig Con	struction	Gary Merlino Con	struction	R.W. Scott Const	ruction Ken	Langholz	
BID OPENING: February 26, 2008	NAME AN		5188 NW Sammai		P.O. BOX 1875		P.O. BOX 595	Str detion	9125 10th Avenu		4005 W. Valley H		Langnoiz	
Project: 07-3024 & 07-3025	ADDRESS		Issaguah, WA 98		Auburn, WA 98071		Redmond, WA 98	8073-0595	Seattle, WA 981		Auburn, WA 980	•		
110,000. 07 0021 0 07 0020	7,551,200		issaquan, iiii 70	027	, (4)		rtournona, tric	3070 0070	Courtie, W. 701		7.424111, 1171 700			
	TOTAL			\$3,216,275.72		\$3,238,021.89		\$3,695,979.41		\$3,967,710.76		\$4,629,991.45		\$3,282,164.45
ITEM				TOTAL		TOTAL	-	TOTAL		TOTAL	-	TOTAL		TOTAL
NO. DESCRIPTION QUAN	TITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT UNI	T PRICE	AMOUNT
SCHEDULE A-V TRAFFIC CONTROL														
5005* Traffic Control Labor	1,800	HR	\$37.00	\$66,600.00	\$41.00	\$73,800.00	\$44.90	\$80,820.00	\$45.00	\$81,000.00	\$45.00	\$81,000.00 \$	40.00	\$72,000.00
5010* Uniformed Off-Duty Police Officer	40	HR	\$60.00	\$2,400.00	\$60.00	\$2,400.00	\$68.50	\$2,740.00	\$70.00	\$2,800.00	\$70.00	\$2,800.00 \$	60.00	\$2,400.00
5015* Traffic Control Supervisor	450	HR	\$37.00	\$16,650.00	\$41.00	\$18,450.00	\$47.40	\$21,330.00	\$70.00	\$31,500.00	\$48.00	\$21,600.00 \$	45.00	\$20,250.00
5020 Temporary Traffic Control Devices	1	LS	\$8,700.00	\$8,700.00	\$5,000.00	\$5,000.00	\$51,276.00	\$51,276.00	\$2,000.00	\$2,000.00	\$30,000.00	\$30,000.00 \$	4,000.00	\$4,000.00
5030* Portable Changeable Message Sign (PCMS)	40	Day	\$80.00	\$3,200.00	\$85.00	\$3,400.00	\$75.00	\$3,000.00	\$120.00	\$4,800.00	\$150.00	\$6,000.00 \$	140.00	\$5,600.00
5035* Sequential Arrow Sign (SAS)	225	Day	\$21.00	\$4,725.00	\$20.00	\$4,500.00	\$15.00	\$3,375.00	\$15.00	\$3,375.00	\$50.00	\$11,250.00 \$	70.00	\$15,750.00
5075 Permanent Channelization	1	LS	\$7,800.00	\$7,800.00	\$7,000.00	\$7,000.00	\$7,056.00	\$7,056.00	\$1,000.00	\$1,000.00	\$8,500.00	\$8,500.00 \$	2,500.00	\$2,500.00
5135 Permanent Signing	1	LS	\$2,650.00	\$2,650.00	\$2,000.00	\$2,000.00	\$2,350.00	\$2,350.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00 \$	2,500.00	\$2,500.00
TOTALSCHEDULE A-V TRAFFIC CONTROL				\$112,725.00		\$116,550.00		\$171,947.00		\$132,475.00		\$165,150.00		\$125,000.00
SCHEDULE A-VI - ELECTRICAL														
6000 Traffic Signal System at Kent Events Center/Regional Just	ice Cente 1	LS	\$250,000.00	\$250,000.00	\$215,000.00	\$215,000.00	\$254,151.00	\$254,151.00	\$230,000.00	\$230,000.00	\$233,113.00	\$233,113.00 \$ 2	00,000.00	\$200,000.00
6002 Traffic Signal System Modification at 4th Avenue N. and W	/. James! 1	LS	\$113,000.00	\$113,000.00	\$100,000.00	\$100,000.00	\$102,570.00	\$102,570.00	\$100,000.00	\$100,000.00	\$102,000.00	\$102,000.00 \$	35,000.00	\$35,000.00
6005 Illumination System	1	LS	\$83,000.00	\$83,000.00	\$70,000.00	\$70,000.00	\$75,225.00	\$75,225.00	\$70,000.00	\$70,000.00	\$74,000.00	\$74,000.00 \$	35,000.00	\$35,000.00
6006 Relocate Existing Decorative Luminaire	1	EA	\$3,400.00	\$3,400.00	\$3,000.00	\$3,000.00	\$3,089.00	\$3,089.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00 \$	2,500.00	\$2,500.00
TOTAL SCHEDULE A-VI ELECTRICAL				\$449,400.00		\$388,000.00		\$435,035.00		\$403,000.00		\$412,313.00		\$272,500.00
SCHEDULE A-VII - TESC														
7005* Silt Fence	1,200	LF	\$4.00	\$4,800.00	\$4.00	\$4,800.00	\$3.25	\$3,900.00	\$5.00	\$6,000.00	\$8.00	\$9,600.00 \$	7.00	\$8,400.00
7010* Straw Waddle for Drainage Way Barrier	5	EA	\$85.00	\$425.00	\$100.00	\$500.00	\$50.00	\$250.00	\$5.00	\$25.00	\$50.00	\$250.00 \$	90.00	\$450.00
7015* Inlet Protection	6	EA	\$130.00	\$780.00	\$80.00	\$480.00	\$60.00	\$360.00	\$100.00	\$600.00	\$80.00	\$480.00 \$	125.00	\$750.00
7020* Straw Mulch	100	SY	\$3.00	\$300.00	\$2.00	\$200.00	\$5.00	\$500.00	\$10.00	\$1,000.00	\$6.00	\$600.00 \$	5.00	\$500.00
7030* ESC Lead	150	Day	\$400.00	\$60,000.00	\$15.00	\$2,250.00	\$75.00	\$11,250.00	\$100.00	\$15,000.00	\$100.00	\$15,000.00 \$	225.00	\$33,750.00
7055 Temporary Erosion/Water Pollution Control	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		10,000.00	\$10,000.00
TOTAL SCHEDULE A-VII TESC				\$76,305.00		\$18,230.00		\$26,260.00		\$32,625.00		\$35,930.00		\$53,850.00
SCHEDULE A-VIII - ROADSIDE RESTORATION														
8000 Street Tree Planting and Staking	3	EA	\$915.00	\$2,745.00	\$750.00	\$2,250.00	\$140.35	\$421.05	\$300.00	\$900.00	\$1,200.00	\$3,600.00 \$	200.00	\$600.00
8001* Seeding, Fertilizing, and Mulching	1	ACRE	\$1,950.00	\$1,950.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00 \$	2,500.00	\$2,500.00
8004* Flamingo Box Elder (Acer Negundo 'Flamingo')	3	EA	\$220.00	\$660.00	\$200.00	\$600.00	\$251.50	\$754.50	\$200.00	\$600.00	\$200.00	\$600.00 \$	200.00	\$600.00
8005* Topsoil Type A	50	CY	\$30.00	\$1,500.00	\$25.00	\$1,250.00	\$59.10	\$2,955.00	\$40.00	\$2,000.00	\$30.00	\$1,500.00 \$	55.00	\$2,750.00
8010 River Rock	2	Ton	\$150.00	\$300.00	\$300.00	\$600.00	\$250.00	\$500.00	\$100.00	\$200.00	\$200.00	\$400.00 \$	75.00	\$150.00
8015* Bark or Wood Chip Mulch	25	CY	\$56.00	\$1,400.00	\$45.00	\$1,125.00	\$78.50	\$1,962.50	\$30.00	\$750.00	\$50.00	\$1,250.00 \$	35.00	\$875.00
8025 48 Inch Square Ductile Iron "Kent" Tree Grate (2 Pieces)	3	EA	\$1,000.00	\$3,000.00	\$900.00	\$2,700.00	\$895.00	\$2,685.00	\$1,400.00	\$4,200.00	\$1,000.00	\$3,000.00 \$	925.00	\$2,775.00
8030 Tree Grate and Frame Installation	3	EA	\$100.00	\$300.00	\$150.00	\$450.00	\$512.00	\$1,536.00	\$200.00	\$600.00	\$150.00	\$450.00 \$	250.00	\$750.00
TOTAL SCHEDULE A-VIII ROADSIDE RESTORATION				\$11,855.00		\$10,475.00		\$12,314.05		\$11,250.00		\$12,800.00		\$11,000.00
SCHEDULE A-IX - JOINT UTILITY TRENCH														
9015 Joint Utility Trench Excavation - 2 Feet Wide	675	LF	\$28.00	\$18,900.00	\$34.00	\$22,950.00	\$57.70	\$38,947.50	\$70.00	\$47,250.00	\$110.00	\$74,250.00 \$	50.00	\$33,750.00
9016* Joint Utility Trench Excavation - 3.5 Feet Wide	800	LF	\$23.00	\$18,400.00	\$50.00	\$40,000.00	\$66.25	\$53,000.00	\$100.00	\$80,000.00	\$150.00	\$120,000.00 \$	60.00	\$48,000.00
9017 PSE Gas Main Trench Excavation - 2 Feet Wide	500	LF	\$22.00	\$11,000.00	\$30.00	\$15,000.00	\$54.50	\$27,250.00	\$20.00	\$10,000.00	\$30.00	\$15,000.00 \$	50.00	\$25,000.00
9020* Gravel Borrow, Including Haul and Compaction for Backfill		TON	\$16.10	\$41,860.00	\$15.00	\$39,000.00	\$16.95	\$44,070.00	\$25.00	\$65,000.00	\$24.00	\$62,400.00 \$	25.00	\$65,000.00
9021* Sand for Conduit Bedding	750	TON	\$16.60	\$12,450.00	\$18.00	\$13,500.00	\$24.60	\$18,450.00	\$25.00	\$18,750.00	\$30.00	\$22,500.00 \$	20.00	\$15,000.00
9022* Control Density Fill	75	CY	\$200.00	\$15,000.00		\$12,000.00		\$8,250.00		\$7,500.00		\$9,000.00 \$	115.00	\$8,625.00
1. 122 23.11.01 23.13.13.1.11	, 5	51	1 \$200.00	\$.5,000.00	1 \$.50.00	ψ.2,000.00	1 4110.00	\$0,200.00	1 \$100.00	\$7,555.00	1 4120.00	\$7,000.00	5.00	\$3,020.00

OUTV OF KENT			1 .		2		Ι .		1 .		5		İ	I
CITY OF KENT W. James St. & 4th Avenue N/W. Cloudy Street	BIDDER	'C	Sanders General	Contruction	Rodarte Construct	lon	3 Donnis Craig Con	actruction	Gary Merlino Cor	ectruction	R.W. Scott Const	rustion	Ken Langholz	
BID OPENING: February 26, 2008	NAME A		5188 NW Samma		P.O. BOX 1875	11011	Dennis Craig Con P.O. BOX 595	istruction	9125 10th Avenu		4005 W. Valley H		Keri Langnoiz	
Project: 07-3024 & 07-3025	ADDRES		Issaquah, WA 98		Auburn, WA 9807	71	Redmond, WA 9	9072 0E0E	Seattle, WA 981		Auburn, WA 980	,		
Project. 07-3024 & 07-3025	ADDRES	5	issaquali, WA 90	027	Aubuiti, WA 9807	, I	Redifiona, WA 9	0073-0595	Seattle, WA 961	06	Aubuiti, WA 960	O I		
	TOTAL			\$3,216,275.72		\$3,238,021.89		\$3,695,979.41		\$3,967,710.76		\$4,629,991.45		\$3,282,164.45
ITEM				TOTAL	-	TOTAL	-	TOTAL	-	TOTAL	L	TOTAL		TOTAL
NO. DESCRIPTION QUANTITY		UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN ⁻	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
9028 Installation and Proofing of 2 Inch Diameter PSE Conduit	270	LF	\$1.50	\$405.00	\$2.00	\$540.00	\$2.10	\$567.00	\$5.00	\$1,350.00	\$2.06	\$556.20	\$ 2.50	\$675.00
9030* Installation and Proofing of 4 Inch Diameter PSE Conduit	3,550	LF	\$1.50	\$5,325.00	\$3.00	\$10,650.00	\$3.15	\$11,182.50	\$5.00	\$17,750.00	\$3.09	\$10,969.50	\$ 3.00	\$10,650.00
9031* Installation and Proofing of 6 Inch Diameter PSE Conduit	2,700	LF	\$1.50	\$4,050.00	\$4.00	\$10,800.00	\$4.20	\$11,340.00	\$5.00	\$13,500.00	\$4.11	\$11,097.00	\$ 4.00	\$10,800.00
9035 Installation and Proofing of 2 Inch Diameter Qwest Conduit	130	LF	\$1.50	\$195.00	\$2.00	\$260.00	\$2.10	\$273.00	\$5.00	\$650.00	\$2.06	\$267.80	\$ 2.50	\$325.00
9036* Installation and Proofing of 4 Inch Diameter Qwest Conduit	3,425	LF	\$1.50	\$5,137.50	\$3.00	\$10,275.00	\$3.15	\$10,788.75	\$5.00	\$17,125.00	\$3.09	\$10,583.25	\$ 3.00	\$10,275.00
9045 Excavation and Installation of 5'11" x 11'4" x 5'0" PSE Vault	1	EA	\$1,800.00	\$1,800.00	\$2,600.00	\$2,600.00	\$2,420.00	\$2,420.00	\$15,000.00	\$15,000.00	\$3,450.00	\$3,450.00	\$ 4,250.00	\$4,250.00
9046 Excavation and Installation of 4'8" x 7'0" x 5'0" PSE Vault	1	EA	\$1,650.00	\$1,650.00	\$2,200.00	\$2,200.00	\$1,210.00	\$1,210.00	\$6,000.00	\$6,000.00	\$2,250.00	\$2,250.00	\$ 3,000.00	\$3,000.00
9047* Excavation and Installation of 4'8" x 7'0" x 5'8" PSE Vault	4	EA	\$1,650.00	\$6,600.00	\$2,300.00	\$9,200.00	\$1,210.00	\$4,840.00	\$6,000.00	\$24,000.00	\$2,450.00	\$9,800.00	\$ 3,250.00	\$13,000.00
9048* Excavation and Installation of 2'8" x 3'8" x 3'0" PSE Vault	2	EA	\$1,200.00	\$2,400.00	\$800.00	\$1,600.00	\$625.00	\$1,250.00	\$1,500.00	\$3,000.00	\$750.00	\$1,500.00	\$ 1,000.00	\$2,000.00
9049* Excavation and Installation of 3'0" x 3'6" x 3'2" PSE Vault	1	EA	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$ 1,250.00	\$1,250.00
9050* Excavation and Installation of 2' x 2' x 3' Comcast Vault	1	EA	\$775.00	\$775.00	\$450.00	\$450.00	\$625.00	\$625.00	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$ 650.00	\$650.00
9052* Excavation and Insallation of Qwest 264 TA Vault	1	EA	\$1,200.00	\$1,200.00	\$1,700.00	\$1,700.00	\$625.00	\$625.00	\$4,500.00	\$4,500.00	\$1,200.00	\$1,200.00	\$ 2,500.00	\$2,500.00
SUBTOTAL SCHEDULE A -IX - JOINT UTILITY TRENCH				\$148,347.50		\$193,725.00		\$235,838.75		\$333,875.00		\$356,323.75		\$254,750.00
Sales Tax .089%				\$13,202.93		\$17,241.53		\$20,989.65		\$29,714.88		\$31,712.81		\$22,672.75
TOTAL SCHEDULE A -IX - JOINT UTILITY TRENCH				\$161,550.43		\$210,966.53		\$256,828.40		\$363,589.88		\$388,036.56		\$277,422.75
2007 2000 200														
COST SUMMARY				*F00 47F 00		4700 070 00		47444775		*****		** *** ***		*********
Schedule I - STREET				\$589,175.00		\$799,070.00		\$714,147.75		\$880,050.00		\$1,201,310.00		\$647,615.00
Schedule II - WATER				\$25,297.47		\$20,908.80		\$27,886.89		\$26,963.64		\$33,867.90		\$20,364.30
Schedule III - SANITARY SEWER				\$8,917.50		\$6,715.00		\$9,130.25		\$9,475.00		\$10,120.00		\$10,100.00
Schedule IV - STORM SEWER				\$65,287.50		\$60,525.00		\$93,553.05		\$82,650.00		\$96,350.00		\$68,700.00
Schedule V - TRAFFIC CONTROL				\$112,725.00		\$116,550.00		\$171,947.00		\$132,475.00		\$165,150.00		\$125,000.00
Schedule VI - ELECTRICAL Schedule VII - TESC				\$449,400.00		\$388,000.00		\$435,035.00		\$403,000.00		\$412,313.00		\$272,500.00
				\$76,305.00		\$18,230.00		\$26,260.00		\$32,625.00		\$35,930.00		\$53,850.00
Schedule VIII - ROADSIDE RESTORATION				\$11,855.00		\$10,475.00		\$12,314.05		\$11,250.00		\$12,800.00		\$11,000.00
Schedule IX - JOINT UTILITY TRENCH				\$161,550.43		\$210,966.53		\$256,828.40		\$363,589.88		\$388,036.56		\$277,422.75
TOTAL SCHEDULE A				\$1,500,512.90		\$1,631,440.33		\$1,747,102.39		\$1,942,078.52		\$2,355,877.46		\$1,486,552.05
SCHEDULE B - 4th Avenue N. and W. Cloudy Street														
SCHEDULE B -1 - STREET														
1000 Mobilization	1	LS	\$98,000.00	\$98,000.00	\$81,000.00	\$81,000.00	\$159,028.00	\$159,028.00	\$100,000.00	\$100,000.00	\$196,700.00	\$196,700.00	\$ 163,000.00	\$163,000.00
1005 Clearing and Grubbing	1	LS	\$12,300.00	\$12,300.00	\$17,000.00	\$17,000.00	\$28,880.00	\$28,880.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$ 20,000.00	\$20,000.00
1010* Remove Existing Asphalt Concrete Pavement	2,500	SY	\$3.15	\$7,875.00	\$6.00	\$15,000.00	\$11.60	\$29,000.00	\$9.00	\$22,500.00	\$8.00	\$20,000.00	\$ 7.00	\$17,500.00
1015 Remove Existing Cement Concrete Driveway/Pavement	150	SY	\$9.00	\$1,350.00	\$10.00	\$1,500.00	\$8.95	\$1,342.50	\$12.00	\$1,800.00	\$20.00	\$3,000.00	\$ 7.00	\$1,050.00
1020* Remove Cement Concrete Sidewalk	1,300	SY	\$3.30	\$4,290.00	\$10.00	\$13,000.00	\$6.20	\$8,060.00	\$10.00	\$13,000.00	\$8.00	\$10,400.00	\$ 10.00	\$13,000.00
1025 [⋆] Remove Cement Concrete Curb and Gutter	2,100	LF	\$1.60	\$3,360.00	\$5.00	\$10,500.00	\$4.20	\$8,820.00	\$4.00	\$8,400.00	\$4.00	\$8,400.00	\$ 5.00	\$10,500.00
1035 Removal of Traffic Islands and/or Traffic Curb	1	LS	\$2,400.00	\$2,400.00	\$4,000.00	\$4,000.00	\$4,770.00	\$4,770.00	\$4,000.00	\$4,000.00	\$9,000.00	\$9,000.00	\$ 2,000.00	\$2,000.00
1050* Saw Cut Existing Asphalt Concrete Pavement	4,200	LF	\$2.50	\$10,500.00	\$1.75	\$7,350.00	\$2.10	\$8,820.00	\$2.00	\$8,400.00	\$4.50	\$18,900.00	\$ 5.00	\$21,000.00
1055* Saw Cut Existing Cement Concrete Pavement	300	LF	\$7.00	\$2,100.00	\$2.50	\$750.00	\$3.25	\$975.00	\$10.00	\$3,000.00	\$8.00	\$2,400.00	\$ 5.00	\$1,500.00
1060* Roadway Excavation, Including Haul	2,500	CY	\$17.50	\$43,750.00	\$16.00	\$40,000.00	\$21.90	\$54,750.00	\$25.00	\$62,500.00	\$30.00	\$75,000.00	\$ 20.00	\$50,000.00
1065* Unsuitable Foundation Excavation, Including Haul	100	CY	\$25.00	\$2,500.00	\$20.00	\$2,000.00	\$21.90	\$2,190.00	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$ 15.00	\$1,500.00
1070* Geotextile Fabric, Non-Woven	100	SY	\$4.00	\$400.00	\$6.00	\$600.00	\$6.50	\$650.00	\$5.00	\$500.00	\$6.00	\$600.00	\$ 4.00	\$400.00
1075* Gravel Borrow, Including Haul and Compaction	2,500	Ton	\$17.00	\$42,500.00	\$19.00	\$47,500.00	\$21.90	\$54,750.00	\$22.00	\$55,000.00	\$23.00	\$57,500.00	\$ 20.00	\$50,000.00
1080* Crushed Surfacing Top Course, 5/8 Inch Minus	1,100	Ton	\$17.80	\$19,580.00	\$19.00	\$20,900.00	\$26.80	\$29,480.00	\$40.00	\$44,000.00	\$23.00	\$25,300.00	\$ 20.00	\$22,000.00
1085* Crushed Surfacing Base Course, 1 1/4 Inch Minus	950	Ton	\$17.80	\$16,910.00	\$19.00	\$18,050.00	\$26.80	\$25,460.00	\$28.00	\$26,600.00	\$23.00	\$21,850.00	\$ 20.00	\$19,000.00
														· ·

TY OF KENT		_	l '				3		4		5				
/. James St. & 4th Avenue N/W. Cloudy Street	BIDDER'		Sanders General Contruction				· ·		Gary Merlino Construction		R.W. Scott Const		Ken L	angholz	
ID OPENING: February 26, 2008	NAME AN		5188 NW Sammar		P.O. BOX 1875		P.O. BOX 595		9125 10th Avenue		4005 W. Valley H	•			
roject: 07-3024 & 07-3025	ADDRESS		Issaquah, WA 98027		Auburn, WA 98071		Redmond, WA 98073-0595		Seattle, WA 98108		Auburn, WA 98001				
	TOTAL			\$3,216,275.72		\$3,238,021.89		\$3,695,979.41		\$3,967,710.76		\$4,629,991.45			\$3,282,164.45
TEM .				TOTAL		TOTAL		TOTAL		TOTAL		TOTAL			TOTA
O. DESCRIPTION QUANTITY		UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT	PRICE	AMOUN
1095* HMA, PG 64-22	1,200	Ton	\$97.50	\$117,000.00	\$80.00	\$96,000.00	\$81.75	\$98,100.00	\$85.00	\$102,000.00	\$85.00	\$102,000.00	\$	80.00	\$96,000.00
1100 HMA for Full Width Overlay, PG 64-22	1,300	Ton	\$85.00	\$110,500.00	\$75.00	\$97,500.00	\$81.75	\$106,275.00	\$80.00	\$104,000.00	\$75.00	\$97,500.00	\$	80.00	\$104,000.00
1110* Planing Bituminous Pavement	450	SY	\$7.00	\$3,150.00	\$7.00	\$3,150.00	\$6.00	\$2,700.00	\$3.00	\$1,350.00	\$15.00	\$6,750.00	\$	8.00	\$3,600.00
1135* Cement Concrete Driveway, 6 Inch Depth	1,100	SY	\$62.00	\$68,200.00	\$50.00	\$55,000.00	\$76.75	\$84,425.00	\$75.00	\$82,500.00	\$45.00	\$49,500.00	\$	40.00	\$44,000.00
1145* Cement Concrete Sidewalk	1,400	SY	\$44.50	\$62,300.00	\$35.00	\$49,000.00	\$35.70	\$49,980.00	\$40.00	\$56,000.00	\$35.00	\$49,000.00	\$	35.00	\$49,000.00
1150* Cement Concrete Sidewalk Ramp Type 1A	10	EA	\$1,750.00	\$17,500.00	\$1,500.00	\$15,000.00	\$1,135.00	\$11,350.00	\$1,000.00	\$10,000.00	\$950.00	\$9,500.00	\$ 1	1,450.00	\$14,500.00
1200* Cement Concrete Sidewalk Ramp Type 4A	2	EA	\$1,480.00	\$2,960.00	\$1,500.00	\$3,000.00	\$1,585.00	\$3,170.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00	\$ 1	1,300.00	\$2,600.00
1205* Cement Concrete Curb and Gutter	3,000	LF	\$25.00	\$75,000.00	\$18.00	\$54,000.00	\$13.75	\$41,250.00	\$30.00	\$90,000.00	\$14.00	\$42,000.00	\$	20.00	\$60,000.00
1211* Type C Block Traffic Curb	125	LF	\$18.50	\$2,312.50	\$16.00	\$2,000.00	\$16.80	\$2,100.00	\$20.00	\$2,500.00	\$21.00	\$2,625.00	\$	15.00	\$1,875.00
1220* Adjust Existing Catch Basin, Storm Manhole or Sewer Manhole to Finished	G 9	EA	\$450.00	\$4,050.00	\$300.00	\$2,700.00	\$550.00	\$4,950.00	\$400.00	\$3,600.00	\$1,500.00	\$13,500.00	\$	400.00	\$3,600.00
1230* Adjust Existing Water Valve to Finished Grade	3	EA	\$160.00	\$480.00	\$200.00	\$600.00	\$350.00	\$1,050.00	\$400.00	\$1,200.00	\$400.00	\$1,200.00	\$	530.00	\$1,590.00
1240* Adjust Existing Junction Box to Finished Grade	1	EA	\$230.00	\$230.00	\$300.00	\$300.00	\$495.00	\$495.00	\$400.00	\$400.00	\$600.00	\$600.00	\$	315.00	\$315.00
1245 Adjusting Existing Monument, Case and Cover to Finished Grade	1	EA	\$480.00	\$480.00	\$500.00	\$500.00	\$395.00	\$395.00	\$200.00	\$200.00	\$600.00	\$600.00	\$	400.00	\$400.00
1260 Remove and Relocate Wood Fence	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$ 10	0,000.00	\$10,000.00
1265 Remove and Relocate Chain-Link Fence	1	FA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$ 10	0,000.00	\$10,000.00
1285 Mailbox Support, Type 1	11	EA	\$230.00	\$2,530.00	\$350.00	\$3,850.00	\$395.00	\$4,345.00	\$400.00	\$4,400.00	\$500.00	\$5,500.00	\$	400.00	\$4,400.00
315* Pothole Utilities	20	EA	\$550.00	\$11,000.00	\$500.00	\$10,000.00	\$235.00	\$4,700.00	\$900.00	\$18,000.00	\$400.00	\$8,000.00	\$	500.00	\$10,000.0
1335* Watering	40	HR	\$62.00	\$2,480.00	\$100.00	\$4,000.00	\$120.00	\$4,800.00	\$100.00	\$4,000.00	\$150.00	\$6,000.00	\$	100.00	\$4,000.0
1340* Removal of Raised Pavement Markers and/or Thermoplastic Traffic Marking	js 1	LS	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$1,344.00	\$1,344.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$ 5	5,000.00	\$5,000.00
TOTAL SCHEDULE B - I STREET				\$769,487.50		\$696,950.00		\$858,404.50		\$868,350.00		\$875,225.00			\$817,330.00
SCHEDULE B - II - WATER															
2025 8 Inch Diameter Ductile Iron, CI 52 Water Main Pipe	675	LF	\$62.00	\$41,850.00	\$55.00	\$37,125.00	\$103.45	\$69,828.75	\$60.00	\$40,500.00	\$150.00	\$101,250.00	\$	80.00	\$54,000.00
2080* Hydrant Assembly	1	EA	\$6,000.00	\$6,000.00	\$3,500.00	\$3,500.00	\$5,534.80	\$5,534.80	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00		4,000.00	\$4,000.00
2085 2 Inch Air Release Valve with Chamber	1	EA	\$4,300.00	\$4,300.00	\$4,000.00	\$4,000.00	\$2,590.00	\$2,590.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$ 2	2,750.00	\$2,750.00
2100 Moving Existing Hydrant	1	EA	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$3,850.00	\$3,850.00	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00		1,900.00	\$1,900.00
2105* Abandon Existing Water Service	32	EA	\$240.00	\$7,680.00	\$300.00	\$9,600.00	\$395.20	\$12,646.40	\$500.00	\$16,000.00	\$600.00	\$19,200.00		400.00	\$12,800.00
2115* Service Connection 1 Inch Diameter	29	EA	\$690.00	\$20,010.00	\$800.00	\$23,200.00	\$518.10	\$15,024.90	\$900.00	\$26,100.00	\$1,000.00	\$29,000.00	\$	400.00	\$11,600.00
2145* Water Service Line 1 Inch Diameter	1,150	LF	\$24.00	\$27,600.00	\$10.00	\$11,500.00	\$35.60	\$40,940.00	\$40.00	\$46,000.00	\$50.00	\$57,500.00	\$	20.00	\$23,000.00
2210* 1 Inch Meter Setter	29	EA	\$215.00	\$6,235.00	\$600.00	\$17,400.00	\$295.00	\$8,555.00	\$300.00	\$8,700.00	\$500.00	\$14,500.00	\$	250.00	\$7,250.00
2220* Meter Box for up to 1 Inch Diameter Service	29	EA	\$150.00	\$4,350.00	\$500.00	\$14,500.00	\$350.00	\$10,150.00	\$40.00	\$1,160.00	\$300.00		\$	300.00	\$8,700.0
2250 Adjusting Water Main	2	EA	\$10,070.00	\$20,140.00	\$8,500.00	\$17,000.00	\$6,139.50	\$12,279.00	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	\$	120.00	\$240.00
2255 Shoring or Extra Excavation Class B	300	SY	\$3.20	\$960.00	\$1.00	\$300.00	\$4.50	\$1,350.00	\$4.00	\$1,200.00	\$45.00	\$13,500.00	\$	0.50	\$150.00
2260* Foundation Material, Class I and II	160	Ton	\$20.00	\$3,200.00	\$40.00	\$6,400.00	\$38.95	\$6,232.00	\$40.00	\$6,400.00	\$50.00	\$8,000.00	\$	20.00	\$3,200.00
275* Pipe Zone Bedding	200	Ton	\$17.50	\$3,500.00	\$15.00	\$3,000.00	\$35.95	\$7,190.00	\$25.00	\$5,000.00	\$50.00	\$10,000.00	\$	20.00	\$4,000.00
:285* Bank Run Gravel for Trench Backfill	600	Ton	\$15.50	\$9,300.00	\$15.00	\$9,000.00	\$32.50	\$19,500.00	\$25.00	\$15,000.00	\$22.00	\$13,200.00	\$	15.00	\$9,000.00
320* Remove Existing Water Meter Box	29	EA	\$50.00	\$1,450.00		\$1,450.00		\$1,450.00	\$200.00	\$5,800.00	\$250.00	\$7,250.00	\$	100.00	\$2,900.00
SUBTOTAL SCHEDULE B-II - Water				\$158,675.00		\$159,975.00		\$217,120.85		\$189,860.00		\$304,100.00			\$145,490.00
Sales Tax .089%				\$14,122.08		\$14,237.78		\$19,323.76		\$16,897.54		\$27,064.90			\$12,948.6
TOTAL SCHEDULE B-II - Water			1	\$172,797.08		\$174,212.78		\$236,444.61		\$206,757.54		\$331,164.90			\$158,438.61

CITY OF KENT			1		2	I	3		4		5		1	
/. James St. & 4th Avenue N/W. Cloudy Street	BIDDE	ER'S	Sanders General C	Contruction	Rodarte Construction	Rodarte Construction Dennis Craig Construction		struction	Gary Merlino Const	struction	R.W. Scott Constr	truction	Ken Langholz	
ID OPENING: February 26, 2008	NAME A		5188 NW Samman		P.O. BOX 1875		P.O. BOX 595		9125 10th Avenue		4005 W. Valley Hv		1	
roject: 07-3024 & 07-3025	ADDRE		Issaquah, WA 980		Auburn, WA 98071		Redmond, WA 98	8073-0595	Seattle, WA 98108		Auburn, WA 9800	•		
	TOTA	.1		¢2 214 27E 7′		#2 220 021 00	ſ	¢2 40E 070 41		¢2 047 710 74		¢4 420 001 4E		¢2 202 144 4′
TEM	TOTAL	<u>•</u>	+	\$3,216,275.72 TOTAL		\$3,238,021.89 TOTAL		\$3,695,979.41 TOTAL		\$3,967,710.76 TOTAL		\$4,629,991.45 TOTAL	+	\$3,282,164.45 TOTAL
TEM NO. DESCRIPTION QUAN	AITITV	UNIT	UNIT PRICE	AMOUNT			UNIT PRICE	AMOUNT		-				AMOUNT
SCHEDULE B - IV - STORM SEWER	IIIY	UNII	UNITERIOL	AIVICOIL.	UNITERIOL	AIVIOUTT	JINII PRICE	AWIOGIV.	UNIT PRICE	AWOUN.	UNIT PRICE	Alvicon.	UNITERIOL	AIVICON.
4015* Storm Sewer Pipe, 12 Inch Diameter, Ductile Iron, Class 50	280	0 LF	\$60.00	\$16,800.00	0 \$50.00	\$14,000.00	\$63.85	\$17,878.00	\$70.00	\$19,600.00	\$80.00	\$22,400.00	\$ 70.00	\$19,600.00
4015 Storm Sewer Pipe, 12 inch Diameter, Ductile Iron, Class 50 4080* Catch Basin, Type 1	12		\$900.00	\$10,800.00		\$14,000.00	\$866.20	\$17,878.00		\$19,800.00		\$10,800.00		\$19,800.00
4120* Vaned Catch Basin Frame and Grate	6	EA EA	\$320.00	\$10,800.00		\$1,200.00	\$325.00	\$10,394.40		\$12,000.00		\$2,400.00		\$13,200.00
F120* Vaned Catch Basin Frame and Grate 1125* Thru-Curb Inlet Frame and Vaned Grate, DI	6	EA EA	\$320.00 \$430.00	\$1,920.00	-	\$1,200.00	\$325.00 \$550.00	\$1,950.00		\$1,800.00		\$2,400.00		\$2,100.00
4125" Thru-Curb Inlet Frame and Vaned Grate, DI 4135 Remove Existing Storm Sewer Pipe	600		\$430.00	\$2,580.00		\$1,500.00	\$550.00 \$10.50	\$3,300.00		\$1,800.00				\$2,400.00
·			\$300.00				\$10.50							
4145 Remove Existing Catch Basin or Manhole	5			\$1,500.00		\$1,250.00	1	\$2,041.50		\$2,500.00		\$3,750.00		\$3,250.00
4155* Foundation Material, Class I and II	75		\$20.00	\$1,500.00		\$3,000.00	\$38.95	\$2,921.25		\$3,000.00		\$3,750.00		\$1,500.00
4170* Pipe Zone Bedding	100		\$17.50	\$1,750.00		\$1,500.00	\$35.95	\$3,595.00		\$3,000.00		\$5,000.00		\$2,000.00
4210* Thermoplastic Storm Drain Stenciling	12	2 EA	\$60.00	\$720.00		\$600.00	\$50.40	\$604.80		\$1,200.00		\$1,200.00		\$600.00
TOTAL SCHEDULE B- IV - STORM SEWER				\$40,570.00		\$39,250.00	1	\$48,984.95		\$56,900.00		\$61,300.00		\$51,850.00
SCHEDULE B - V - TRAFFIC CONTROL							1	•		•		ı		
5005* Traffic Control Labor	2,200	00 HR	\$37.00	\$81,400.00	0 \$41.00	\$90,200.00	\$44.90	\$98,780.00	\$45.00	\$99,000.00	\$45.00	\$99,000.00	\$ 40.00	\$88,000.00
5010* Uniformed Off-Duty Police Officer	40) HR	\$60.00	\$2,400.00	0 \$60.00	\$2,400.00	\$68.50	\$2,740.00	\$70.00	\$2,800.00	\$70.00	\$2,800.00	\$ 60.00	\$2,400.00
5015* Traffic Control Supervisor	550	0 HR	\$37.00	\$20,350.00	0 \$41.00	\$22,550.00	\$47.40	\$26,070.00	\$70.00	\$38,500.00	\$48.00	\$26,400.00	\$ 45.00	\$24,750.00
5020 Temporary Traffic Control Devices	1	LS	\$8,700.00	\$8,700.00	0 \$5,000.00	\$5,000.00	\$37,845.00	\$37,845.00	\$2,000.00	\$2,000.00	\$20,000.00	\$20,000.00	\$ 4,000.00	\$4,000.00
5030* Portable Changeable Message Sign (PCMS)	40) Day	\$80.00	\$3,200.00	0 \$85.00	\$3,400.00	\$75.00	\$3,000.00	\$120.00	\$4,800.00	\$150.00	\$6,000.00	\$ 140.00	\$5,600.00
5035* Sequential Arrow Sign (SAS)	270	0 Day	\$21.00	\$5,670.00	0 \$20.00	\$5,400.00	\$15.00	\$4,050.00	\$15.00	\$4,050.00	\$50.00	\$13,500.00	\$ 70.00	\$18,900.00
5075 Permanent Channelization	1	LS	\$8,020.00	\$8,020.00		\$7,000.00	\$7,280.00	\$7,280.00		\$1,000.00				\$2,500.00
5135 Permanent Signing	1	LS	\$2,650.00	\$2,650.00		\$1,800.00	\$2,820.00	\$2,820.00		\$6,000.00		\$2,000.00		\$2,500.00
TOTAL SCHEDULE B - V - TRAFFIC CONTROL				\$132,390.00		\$137,750.00	ſ	\$182,585.00		\$158,150.00		\$175,700.00		\$148,650.00
SCHEDULE B - VI - ELECTRICAL							1	•		•		ı		
6001 Traffic Signal System at 4th Avenue N. and W. Cloudy Street	1	LS	\$235,000.00	\$235,000.00	0 \$210,000.00	\$210,000.00	\$236,780.00	\$236,780.00	\$220,000.00	\$220,000.00	\$221,563.00	\$221,563.00	\$ 200,000.00	\$200,000.00
6005 Illumination System	. 1		\$75,500.00	\$75,500.00	* *	\$70,000.00	\$68,600.00	\$68,600.00		\$70,000.00		*		\$75,000.00
TOTAL SCHEDULE B - VI - ELECTRICAL		=-	Ψ, Θ,ΞΞ	\$310,500.00		\$280,000.00	1	\$305,380.00		\$290,000.00		\$288,563.00		\$275,000.00
00117111 7 D WI TP00							1	•		•		ı		
SCHEDULE B- VII - TESC 7005* Silt Fence	25/	0 LF	\$4.00	\$1,000.00	0 \$4.00	\$1,000.00	\$3.25	\$812.50	\$5.00	\$1,250.00	\$8.00	\$2,000.00	\$ 7.00	\$1,750.00
	250							·	· ·					
7010* Straw Waddle for Drainage Way Barrier	5		\$85.00	\$425.00		\$500.00	\$50.00	\$250.00	· ·	\$25.00 \$1.100.00	· ·	,		\$450.00 \$1.275.00
7015* Inlet Protection 7020* Straw Mulch	11		\$130.00	\$1,430.00		\$880.00	\$60.00	\$660.00 \$500.00		\$1,100.00		\$80.00		\$1,375.00
	100		\$3.00	\$300.00		\$200.00	\$5.00 \$75.00	\$500.00 \$13.500.00		\$1,000.00				\$500.00
7030* ESC Lead	180		\$400.00	\$72,000.00		\$2,700.00	\$75.00	\$13,500.00		\$18,000.00		\$18,000.00		\$40,500.00
7055 Temporary Erosion/Water Pollution Control TOTAL SCHEDULE B - VII - TESC	T	FA	\$10,000.00	\$10,000.00 \$85,155.00		\$10,000.00 \$15,280.00	\$10,000.00	\$10,000.00 \$25,722.50		\$10,000.00 \$31,375.00		\$10,000.00 \$31,730.00		\$10,000.00 \$54,575.00
							1	•		• • •		· · · · · · · · · · · · · · · · · · ·		
SCHEUDLE B - VIII - ROADSIDE RESTORATION	27	- EA	¢015.00	\$21.045.00	*750.00	\$17.2E0.00	¢140.25	\$2.229.0E	#300 00	# 4 DOO OC	\$1 200 00	#27 400 OC	200.00	*4.400.00
8000 Street Tree Planting and Staking	23		\$915.00	\$21,045.00		\$17,250.00	\$140.35	\$3,228.05		\$6,900.00		•		\$4,600.00
8001* Seeding, Fertilizing, and Mulching	1	ACRE	\$1,950.00	\$1,950.00		\$1,500.00	\$1,500.00	\$1,500.00		\$2,000.00		\$2,000.00		\$2,500.00
8002 Sensation Box Elder (Acer Negundo 'Sensation')	11		\$230.00	\$2,530.00		\$2,200.00	\$309.35	\$3,402.85		\$2,200.00				\$2,200.00
8003 Tricolor Beech (Gagus Sylvatica 'Roseomarginata')	7	EA	\$260.00	\$1,820.00		\$1,750.00	\$451.15	\$3,158.05		\$1,400.00		\$1,750.00		\$1,400.00
8004* Flamingo Box Elder (Acer Negundo 'Flamingo')	5		\$220.00	\$1,100.00		\$1,000.00	\$251.50	\$1,257.50		\$1,000.00		\$1,000.00		\$1,000.00
8005 [⋆] Topsoil Type A	250		\$30.00	\$7,500.00		\$6,250.00	\$59.10	\$14,775.00		\$10,000.00		\$7,500.00		\$13,750.00
8015* Bark or Wood Chip Mulch	50		\$56.00	\$2,800.00		\$2,250.00		\$3,925.00		\$1,500.00		\$2,500.00		\$1,75

CITY OF KENT	т				1		2	ĺ	3		4		5				
W. James St.	& 4th Avenue N/W. Cloudy Street		BIDDER	'S	Sanders General C	Contruction	Rodarte Construction	on	Dennis Craig Cons	struction	Gary Merlino Cons	struction	R.W. Scott Constr	ruction	Ken L	angholz	
BID OPENING	6: February 26, 2008		NAME A	ND	5188 NW Sammar	mish Road	P.O. BOX 1875		P.O. BOX 595		9125 10th Avenue	e S.	4005 W. Valley H	wy. #A			
Project: 07-3	3024 & 07-3025		ADDRES	SS	Issaquah, WA 980	027	Auburn, WA 98071	ı	Redmond, WA 98	3073-0595	Seattle, WA 9810	8	Auburn, WA 980	01			
			TOTAL			\$3,216,275.72		\$3,238,021.89		\$3,695,979.41		\$3,967,710.76		\$4,629,991.45			\$3,282,164.45
ITEM						TOTAL		TOTAL		TOTAL		TOTAL		TOTAL			TOTAL
NO.	DESCRIPTION	QUANTITY		UNIT	UNIT PRICE		UNIT PRICE	-	UNIT PRICE		UNIT PRICE		T UNIT PRICE	AMOUNT	UNIT	PRICE	AMOUNT
TOTAL	SCHEDULE B VIII - ROADSIDE RESTORATION					\$38,745.00		\$32,200.00		\$31,246.45		\$25,000.00		\$44,770.00			\$27,200.00
SCHDI	JLE B - IX - JOINT UTILITY TRENCH																
	tility Trench Crossing Excavation - 3.5 Feet Wide		360	LF	\$73.00	\$26,280.00	\$75.00	\$27,000.00	\$72.50	\$26,100.00	\$100.00	\$36,000.00	\$150.00	\$54,000.00	\$	60.00	\$21,600.00
	tility Trench Excavation - 3.5 Feet Wide		1,700	LF	\$23.00	\$39,100.00	\$50.00	\$85,000.00	\$66.25	\$112,625.00	\$100.00	\$170,000.00		\$255,000.00		60.00	\$102,000.00
	Borrow, Including Haul and Compaction for Backfill		1,300	TONS	\$16.10	\$20,930.00	\$15.00	\$19,500.00	\$16.95	\$22,035.00	\$25.00	\$32,500.00		\$31,200.00		25.00	\$32,500.00
	or Conduit Bedding		1,000	TONS	\$16.60	\$16,600.00	\$18.00	\$18,000.00	\$24.60	\$24,600.00	\$25.00	\$25,000.00		\$30,000.00		20.00	\$20,000.00
9022* Control	Density Fill		75	CY	\$200.00	\$15,000.00	\$160.00	\$12,000.00	\$110.00	\$8,250.00	\$100.00	\$7,500.00	\$120.00	\$9,000.00	\$	115.00	\$8,625.00
9030* Installat	tion and Proofing of 4 Inch Diameter PSE Conduit		4,800	LF	\$1.50	\$7,200.00	\$3.00	\$14,400.00	\$3.15	\$15,120.00	\$5.00	\$24,000.00		\$14,832.00		3.00	\$14,400.00
9031* Installat	tion and Proofing of 6 Inch Diameter PSE Conduit		2,925	LF	\$1.50	\$4,387.50	\$4.00	\$11,700.00	\$4.20	\$12,285.00	\$5.00	\$14,625.00	\$4.11	\$12,021.75	\$	4.00	\$11,700.00
9033 Installat	tion and Proofing of 3 Inch Diameter Qwest Conduit		360	LF	\$2.45	\$882.00	\$4.00	\$1,440.00	\$3.75	\$1,350.00	\$5.00	\$1,800.00	\$3.68	\$1,324.80	\$	3.50	\$1,260.00
9036* Installat	tion and Proofing of 4 Inch Diameter Qwest Conduit		1,675	LF	\$1.50	\$2,512.50	\$3.00	\$5,025.00	\$3.15	\$5,276.25	\$5.00	\$8,375.00	\$3.09	\$5,175.75	\$	3.00	\$5,025.00
9047* Excava	tion and Installation of 4'8" x 7'0" x 5'8" PSE Vault		1	EA	\$1,650.00	\$1,650.00	\$2,300.00	\$2,300.00	\$1,210.00	\$1,210.00	\$6,000.00	\$6,000.00	\$2,450.00	\$2,450.00	\$	3,250.00	\$3,250.00
9048* Excava	tion and Installation of 2'8" x 3'8" x 3'0" PSE Vault		7	EA	\$1,200.00	\$8,400.00	\$800.00	\$5,600.00	\$625.00	\$4,375.00	\$1,500.00	\$10,500.00	\$750.00	\$5,250.00	\$	1,000.00	\$7,000.00
9049* Excava	tion and Installation of 3'0" x 3'6" x 3'2" PSE Vault		5	EA	\$1,200.00	\$6,000.00	\$1,000.00	\$5,000.00	\$750.00	\$3,750.00	\$1,500.00	\$7,500.00	\$750.00	\$3,750.00	\$	1,250.00	\$6,250.00
9052* Excava	tion and Installation of Qwest 264 TA Vault		3	EA	\$1,200.00	\$3,600.00	\$1,700.00	\$5,100.00	\$625.00	\$1,875.00	\$4,500.00	\$13,500.00	\$1,200.00	\$3,600.00	\$	2,500.00	\$7,500.00
SUB TO	OTAL SCHEDULE B- IX - JOINT UTILITY TRENCH	l				\$152,542.00		\$212,065.00		\$238,851.25		\$357,300.00		\$427,604.30			\$241,110.00
Sales to	ax .089%					\$13,576.24		\$18,873.79		\$21,257.76		\$31,799.70		\$38,056.78			\$21,458.79
TOTAL	SCHEDULE B - IX - JOINT UTILITY TRENCH					\$166,118.24		\$230,938.79		\$260,109.01		\$389,099.70		\$465,661.08			\$262,568.79
COST	SUMMARY - SCHEDULE B																
Schedule I - V	WATER					\$769,487.50		\$696,950.00		\$858,404.50		\$868,350.00		\$875,225.00			\$817,330.00
Schedule II -	STREET					\$172,797.08		\$174,212.78		\$236,444.61		\$206,757.54		\$331,164.90			\$158,438.61
Schedule IV -	STORM SEWER					\$40,570.00		\$39,250.00		\$48,984.95		\$56,900.00		\$61,300.00			\$51,850.00
Schedule V -	TRAFFIC CONTROL					\$132,390.00		\$137,750.00		\$182,585.00		\$158,150.00		\$175,700.00			\$148,650.00
Schedule VI -	ELECTRICAL					\$310,500.00		\$280,000.00		\$305,380.00		\$290,000.00		\$288,563.00			\$275,000.00
Schedule VII						\$85,155.00		\$15,280.00		\$25,722.50		\$31,375.00		\$31,730.00			\$54,575.00
	- ROADSIDE RESTORATION					\$38,745.00		\$32,200.00		\$31,246.45		\$25,000.00		\$44,770.00			\$27,200.00
	JOINT UTILITY TRENCH					\$166,118.24		\$230,938.79		\$260,109.01		\$389,099.70		\$465,661.08			\$262,568.79
TOTAL	L SCHEDULE B					\$1,715,762.82		\$1,606,581.56		\$1,948,877.02		\$2,025,632.24		\$2,274,113.98			\$1,795,612.40
TOTAL SCHE	EDULE A - West James Street					\$1,500,512.90		\$1,631,440.33		\$1,747,102.39		\$1,942,078.52		\$2,355,877.46			\$1,486,552.05
TOTAL SCHE	EUDLE B - 4th Avenue - West Cloudy Stree	et				\$1,715,762.82		\$1,606,581.56		\$1,948,877.02		\$2,025,632.24		\$2,274,113.98			\$1,795,612.40
TOTAL OF SO	CHEDULE A and B					\$3,216,275.72		\$3,238,021.89		\$3,695,979.41		\$3,967,710.76		\$4,629,991.45			\$3,282,164.45